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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €202l SlEURL Ulclotl ellol WML,
Define resistance and give two factors affecting it.

AR cAtvAlld 5 A Aol WA Scll A Ul dHsLal.
Define work and power.

s12l ol Gosl catvaAld s2A.

State and explain Kirchhoff’s current law.

(55 oll 522 Al vl Ual AHsLAl

Explain loop and junction.

QU ol 52Ut UMl

State active network and passive network.

Asdlal aects wa WAld Azas AUl

Give limitations of Thevenin’s theorem.

Ao(lot eflarn ofl HATERA sBUA.

Explain factors affecting the value of capacitance.

clostlI1ototl Yead UR UUR sl URGA ol uul 3.

Two capacitors having value of 20 pF and 25 pF are connected in series.
Calculate its equivalent value.

20 PF A 25 pF Y YRgddl A o A ARl Ui sl Agf

UURBRS YU Al

Define MMF and reluctance.

AU AUAS, Wal Idseod cAlvuSd 53,

Give two difference between EMF and potential difference.

5. AHAS. Wl WSAlaAA S1$0d ARl A dAslald sRUA.

State and explain ohms law and give its limitations.

(AU) VS oll QA AU A A Aol HalelA ULl

(@)

OR
Explain conductance and conductivity. Write equation showing relation
between them.

(L) 805520 WA 50553 lEl UMl 6lRA AR Aot el Yo Al

1/4

14

03
03

03

03



Q.3

Ud. 3

(b)

(W)

(b)

()

(©)
(8)

(©)

(8)

(d)
(s)

(d)
(s)

(W)

(@)

()

Calculate resistivity of wire having 100m length, 200€2 resistance and 1mm
diameter.

100 m AollgSatl A5 Qg clgs oll WARAYU 200 Q B Wal doll U 1

mm 8, dl Aol WAAUSAL WAL

OR
If 1000 m long wire is made from a cube of copper having each side 1 cm,
find diameter of wire.

1000 m ol As cAl2A o dioltell 1 AL ot Hidl cottaatHl 1A Al

Aoll caul 20l

Explain dynamically induced emf. Explain conditions for producing
dynamically induced emf.

sAAHlsAll  Sosyrs  FAUAg, Al stAAMlsAl  Sosyrs

5 AHAG. Geual scll HIZoll w33l swucl.

OR
An iron ring having average circumference of 50 cm and 4 cm? cross sectional
area is wound with a coil of 500 turns and 20 Q resistance. This winding is
given 24 V D.C. supply and relative permeability of iron is 800, calculate (i)
MMF produced in coil (ii) reluctance of ring

50 cm uR2A2 Uld aloll As Aot 4 cm? oll WSDE oll AASN clloul
Ais ol AlaHidl caldd 8. Al GUR 20 Q WdRualy] 500
iale] ojuq lEl 24 v SLAAl At vl A, Alvisel we
URDWRAAL 800 & dll, (i) ORUOUHL Beugt Ul AHAMAS. (i) oo

ases.

Explain ideal current source and ideal voltage source with necessary
diagrams.

AUEN ([Agd yale B Aol e ARy Bl %33 asld W

AHosL Al

OR
Explain conversion of current source to voltage source and vice versa with
necessary diagram and example.

Qg yals Bt of AR B Hl U ARy B of (Agct Yels
Bld H 3UAR sRcloll ugld UM A.

1 Q, 5Q and 7Q resistors are connected in parallel. If total current flowing
through them is 20 A, calculate the current drawn by each resister.

W 1Q5QuUAT QYR YAl AR WAJAUA AHIAR HUSAH
WA Ul AW Hiel uAR A s&t dlor yale 20 A &lal Al €38

AUARAY Hidl uAR Al (g Yas 2.

OR
20 Q and 50 Q parallel connected resistors are connected in series with R Q
resistor. If this combination is connected across 100 V supply, it draws 3 A
from supply. Calculate value of R and current flowing from 20 Q and 50 Q
resistors.

%l 20 Q Al 50 Q ol AHIAR Hl B3l A ARl R Q HEL YRl

2/4

03

03

03

03

04

021

04

0} 1

04

0} 1

04

0} 1

03

03

03

03



Q.4

U ¥

(b)
(W)

(b)

(¢)

(©
(8)

(©)
(8)

(d)
(s)

(d)

(S)

(@)

(A)

(@)

()

(b)

AU WA ARMML Ascdl A wa Al 100 V Qg Bt A
oglscllHl WA Al B Hiell 3A ol [Agc Yalle a4 8. R of yeu A

U 20 Q UA 50 Q oll AURAL Uil AR Al [QAgd yeus L.
State and explain superposition theorem.
YuRWAlaletall YN of (AQuitel wRUA Ml AH LA,

OR
Using superposition theorem, calculate the value and direction of current
flowing through branch BE shown in fig. 1.

YuRWloflalotell YN oll Guol s30al sl 1 1l oliu BE Hl UAR
Al (At veusell Bud ua (2o weul.

State and Explain Norton’s theorem.
slléet oll YA of (Atilol QU AW A LA

OR

Using Norton’s theorem calculate equivalent constant current source of
circuit given in fig. 2.
olléat oll YNl oll GUAL 53l sl 2 ol AU [@Qgd yate Bd

llell.

What is capacitor? If three capacitors are connected in series, derive the
equation to find out its equivalent capacitance.

losaulat 9 87 ol 2l sttt ol ARl Ui sclHl A A 2AQell

AR (FU uall MRe Y2 AR

OR
If capacitors having values 2 pF, 4 uF and 6 pF are connected in series and
given 220 V D.C. supply, find (i) equivalent capacitance and (ii) charge
across each capacitors.

2 UF, 4 UF Aol 6 pF of e uRladl 2L flastiIloal Al Aslal
220 V oll D.C. Al ;UM 4A dl, (1) A 5U{leot ua
(2) €35 clostlZlol URell UlS WYl

Derive the equation for the capacitor containing some portion of dielectric
medium and some portion of air between two plates.

Bl ol A WAz A o deds MU SIS SAsdls Ueldo]
U 32¢fs scllo] wadf A Al cllytlloell (Buct ual Hej Yy

dAlRdl.

OR
If capacitors having values 2 uF, 3 uF and 6 pF are connected in series and
given 500 V D.C. supply, find (i) equivalent capacitance and (ii) energy
stored in 6 JF capacitor.

2 UF, 3 uF Aol 6 pF of HE uRladl AQ lartiFlolal ARl Aslal
500 V oll D.C.oll Aicllal wUcltdl 3a dl, (1) e 50{l2ot wa
(2) 6 pF 3U{le Ui wHL adl Gast 2.

Derive the equation for calculation of power in kW for Hydro-Electric
Station.
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SLEQSTASELS R M WaR ofl kw Hi oLl g2llad Yot Rl

OR
Explain principle of duality. Write required dual pair for making dual circuit.

sYAEAZl ol Rgicd AHAAl Y URue oletlaal M2 33l

SYUA VR AWl
Compare magnetic circuit with electric circuit.

Noaldls ARsle A FAsEs Usle A ddall 53,

Give comparison between series circuit and parallel circuit.
(L 1Sl A AHAR 1Sl AR el 53,

Resistances having values 10 Q, 20 Q and 30 Q are connected in star.
Calculate its equivalent values in delta connection.

%l 10 Q, 20 Q and 30 Q (U YRlcdl WRALNA RIRUL Adctl B,
3catl sl €38 Aol AU (B .

Explain joules law of electric heating.

SAsgls 2oL HIZall ctoll [RAM AHs1A.

Define and explain specific resistance.
AASls Wieot cAlvUS A 5 Wal UM,

10 O 9V
B
“AAA 2= C
+___
e §3OQ §SOQ
r; =10
ATAVAY My
200 E 40 €) D
Fig. 1
10 Q C 15 Q
A AAA— A
+
100V — 10 Q
S r=0 §
- B
Fig. 2
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